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Sxt—dxy —12y2=(x—6y) (x +2)).

V. RO R I,

Bl 6. HBER, ¥-Tx+6

B 1L P -Ix+6=x3—x-6x+6 (B-Tx SR —x 1 —-6x)
=x{x2-1}—6{x—1)
=(x-Dx2+x—-6)
=(x—1}(x—2) (x+43).

R 2 x3"7x+6=£—;§2+x2—7—f+5(jJH X2I, FINIE *2 3 )
SR D (D) (x=6)
={x—1) (x2+ x ~6)
=(x—N{x-2)(x+3)

R0 45 RIS 000 P b 5 3

1. ERBREGRNFIENLZE, WHETELE%E,

2. BARGBEHESETW, STRHENKENI B,

7. EEEEHASBER, 22+v 3 x-L

ﬁ‘ 6‘&5}2@: X= “'“___"—_h—4



S2x2407 3 x—lcz(.x— :

v 3 _—\/f_ll:_) (x+ v 3 v 11

=2(x+ 4

B8, EEHRETASBER: Ix2+2x+]

1 v 2

M BRI x= = g E Ty i

s axtt=3 [x- (- 4 ‘/—-7--5)][ m(—%—‘/—z z)]
3 (x4 Ao L2 (xS,

% 3 Z(1)(Ad)

L, THRIERNREHRER, mRENMmL R,
2a, O, fj; . ‘\“'/4}—,3— cos x, 2%, ax2+bhx+e, —ax—:g—, lg(x+1), (x+¥)-2,
2, AR#EBRET
(1) e 5b0MEFHEEas b TG,
(2) aBIPHFRMEEES DNBREMTFNE, Ma= -2, b= 38, HAK
HUX 2RI,
3. EBWR 22-I0~ px — 5 xo+1 3 x 0 B HF, FRUY - —18, I
BRI,
4, i@
(1) ~(@+b)+[—a—Q2a—-b)]-6(a—4ab)
(2 bx—{4x+[2x~(-3x+5x+T7—10x}+3] -8}
5. 8.
(1) (3a+2b)—(5a—4b), (2} (5a—2b+3)+(da+2bh—4)
(3) 4x+(3x—4y+52)—(d4x -8y —2z),
(@) (sz_ny_;.._l yz)_ (_l_ x4 2 xy— o ],z)_
3 4 5 2 3 4
6. FIBFIER, W78 RIEE A,
(1) (3)2=x5 (2) X3« x2=xb (3) (6xyy = 12x2y2
(4) 7a? « 8a3=15a5 (3) x4« xt=x8 (6) at+at=ab
7. WE.
(1) —2a(a®-2a2+6a—1) (2) —3a2b(3ad - 2a%b — 4ub” - 54

2 3 3 3
3) - 3 xyz( 5T XY =4 yz—?zx) (4) 2(x2—xy+ 52 —3(x2—3xy—4y?)



